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5 Mathematics

- Year )

D, '"The national curriculum for mathematics aims to
Q ensure that all pupils:
« become fluent......

ﬂ@ * reason mathematically.....
« and can solve problems.
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balance
equals

Subtract
minus
less

difference
Off
Many more

What do you know?
What do you need?
What will you do?
Will you add, subtract,
multiply or divide?
Am | correct?




divide

X

h multiply
share times
groups of lots of

groups of




Place Value

47 IEEEEEEEES

How many units?

How many tens?



40 + 7

30+17

20 + 27

10 + 37



Counting on/back in10s
26 + 20 = 46
67-20 =47

Can they see a pattern?

What happens to the tens column?
31+10=41
3 tens add 1 ten equals 4...

59-20=139
5 tens take away 2 tens equals 3...



Recall of facts

9-5=4
14+5=19
5=19- 14, efg

[fwe know4 +5 =9 - +
\éVf 2Iiogknow. What numbers could go into these boxes?

We encourage the children to apply their knowledge in different ways.

By the end of Year 1, the children were
expected to recall and use facts within and to
20 for addition and subtraction.

Then in Year 2 children we extend their
knowledge further.

Using Known Facts
flknow2+3=5
| also know:
3+2=5
20 +30=50
50-30=20
50 -20=30




2 60 - 20 = 40
40 + 20 = 60 6
4+2=6 ¢

-2
-4

2 2+4=6 16 - 2 = 14
é They are all even.

80)% 6 is the largest and 2 the smallest.
S

4
2

4;



_A\1
6+7=12 ,I)(cyrl’l

Am | correct? How do you know? | know 9 +1 =10

So7 moreis 17.
| know 6 +6=12so

1 more would be 13.

Bridge through 10
addition and subtraction
26 +7=26+4+3
26 +4=30
30 +3=33




Year 2 How would you solve these? A—6

36+__:42 x5

=

What is the missing number? How do you know?

| know 36 + 4 =40. It is 2 more.

So 4 + 2 more equals 6.
Or42-36=

| know 31+5 =36
The difference between

m 46 and 36 is 10.
= hs



When they get into Year 2 we aim to teach the children these skills to
develop their mental skills.

Re-ordering

(Eg to find bonds to 10 or
putting larger number first)

2+ 7 +0=8+2+7

23+34=34+23




Addition in Year 2 - Partitioning

23+ 34 =

First we would encourage the children to put the largest number first.

34 + 23 =

/ \

20 3
T:3en4w.e v-\/lciuldz:(gonie tgns4;

Then we would add the units

54+3 =57

(YY)

54 55 56 57




Activity —

11 + 18 = How would you solve this for your child?

First we would encourage the children to put the largest number first.

18+ 11 =
/ \
10 1

1§+19=28

Then we add the units




(58; 68

3 tens add 2 tens is 5 tens so the
answer must be 58.




Aggregation Augmentatlon

Combining two sets of objects . Adding to a set
(counting all method)) ; (counting on method))

9@ ©

54 (6

“If 1 have & blue footballs “If 1 had & footballs and

and 2 red footballs in my then found 2 more, how
bag, how many footballs do :  many footballs would I have

I have all together?" “6” in total?"” “6"



Subtraction in Year 2

37-16= 37 -16 =
/ \
10 6

32-10=27_

Then we subtract the units

27-6=21

IYYYY VYN

21 22 23 24 35 26 27




Subtraction in Year 2

46 — 25 =

46 - 25 =

/ \

20 5

Then we would subtract the tens
46 - 20 =26

X X — X —
Then we subtract the units

26-5=21

P asas's

21 22 23 24 25 26




74 - 32

43 42

The tens are the same so | will look
at the units. 4 -2 is 2 so it must be 42.




Removing Items Comparlng Sets

(Take Away §
cocoomEE | ::::: *Ce-6=s
“M 1 had 8 footballs and kicked 3 over the | : |  “If | had 9 footballs and you had 6, how

& fence, how many did | have left?" “5" H mmbdlshwelgotthmyou? L2

‘Reduction 8-83=6 ‘;fimrsoofmm
' | “The football costs €9

‘@ “The football cost €8 but but I've only got £6.

I got €3 off in the sales. | : | How much more do |
How much did I pay? “€5" | : need? “€3"

.......................................................................................................................

ThmarelOfooﬂmllshnu
bag. 6 are red, howmm

gellow?® “4
10-6=4C




We spend a lot of

time exploring 6656 m )

problems when
solving multiplication 4% Arrays
and division. We tw How many legs will 3 teddies have? : : :
and use word
problems before we g W roseots
introduce the

Multiplication and
Division in Year 1




There are 5 Triceratops. They have
3biscuits each. How many biscuits
do they have altogether?

FTrrY



Division

| picked up 15 apples from under 3
trees. How many fell off each tree?

Ze%




Socks and shoes
How many pairs of socks do these aliens
heed?

| have 6 legs. | have 12 legs.

| have 22 legs.

s

| have 19 legs.

| have 15 legs.




Multiplication and

n/iel 1 4x2=8
Division in Year 2 ::g:
2x4=8
00 2x4=8 - e e
00
We introduce arrays ooy, Vs 15-3-s
and the symbeols in -
N TN T TSN TN TN
V@ar 20 s h(:aps in 15 How big is each hop! N
5 :: :h?:::betmen s
15+5=3
3x5=15
5x3=15
15+=3=15

They must know their 2x,
5x and 10x off by heart
by January!



Partitioning when multiplying

@22@5260

— 10 x5 =50
— 2x5=10

| know 50 add 10 is 60 because
5«4 1is 6.




34 35 36

When | multiply by 5 it always has
a 5 orazerointhe units so the
answer must be 35.



Muldplicaion

Repeated Addition | Scaling

“My tower

5 . of football
§ stickers was

5 high, but

now it's 3

times as big/! @

5 How many

stickers in

my tower?”

“|5"
5+5+5=15

“I can fit 5 footballs in a :
bag and I've brought 3 full : g
bags. How many footballs :

do | have with me? “I15" i BalalE




DIISion

Sharing

5&@

5+8=5 N

“If 1 shared my 15 footbhalls : i g
fairly into 3”5095, how . “Klcanputmy 15 footballs
many balls would be in each . into groups of 3, how many

bag?" “5" :  groups would I create?” “5”



How many ways can you
make 40p using silver
coins?

You can use each coin
more than oncel







